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Model Question Paper                 

    कक्षा  -  XII     विषय - रसायन शास्त्र  समय-3 घंटा  पूर्ाांक : 70 

सामान्य नर्नर्दशे:- 

 परीक्षार्थी यर्थासंभव अपर्न ेशब्र्दों में उत्तर र्दें। 
Candidates should answer in their own words as much as possible. 

 सभी प्रश्न अनर्नवायय हैं। 
All questions are compulsory. 

 कुल प्रश्नों की संख्या 48 ह।ै 
Total number of questions is 48. 

 प्रश्न 1 स े25 तक बहुनवकनपपय प्रश्न हैं । प्रत्यके प्रश्न के चार नवकपप नर्दए गए हैं। सही नवकपप का 
चयर्न कीनिय।े प्रत्यके प्रश्न के नलए 01 अंक नर्नर्धायररत ह।ै 

Question No. 01 to 25 are multiple choice questions, each question has four options. Select the correct 
option. Each question carries 01 mark. 

 प्रश्न संख्या 26 स े34 तक अनत लघ ुउत्तरीय प्रश्न ह।ै निसम ेस ेनकन्ही 7 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै 
प्रत्यके प्रश्न का मार्न 1 अंक नर्नर्धायररत ह।ै 

Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to answer 
any 7 questions. Each question carries 01 marks. 

 प्रश्न संख्या 35 स े 42 तक लघ ु उत्तरीय प्रश्न ह।ै निसम े स े नकन्ही 6 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै 
प्रत्यके प्रश्न का मार्न 3 अंक नर्नर्धायररत ह।ै 

Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to answer any 6 
questions. Each question carries 03 marks. 

 प्रश्न संख्या 43 स े48 र्दीघय उत्तरीय प्रश्न ह।ै नकन्हीं 4 प्रश्नों का उत्तर र्दरे्ना अनर्नवायय ह।ै प्रत्यके प्रश्न का 
मार्न 5 अंक नर्नर्धायररत ह।ै 

Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4 questions. 
Each question carries 05 marks. 

 

 

                1x25 = 25 

1. Molarity of an aqueous solution containing 2g of NaOH in 200 ml of solution is 

a. 0.5    b. 10    c. 5    d. 0.25 

200 ममऱीमऱटर जऱीय विऱयन में 2 ग्राम NaOH घऱुा हैं  तो विऱयन का मोऱरता क्या होगा? 

   a. 0.5            b. 10    c. 5    d. 0.25 
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2. Among the following subetane the lowest vapour pressure is exerted by 

   a. Water            b. Alcohol   c. Ether   d. Murcury 

इसमें से ककस ऩदाथथ द्िारा िाष्ऩीय दाब सबसे कम होगा ? 

    a. जऱ              b. अल्कोहऱ    c. ईथर              d. ऩारा 
3. Unit of K b is ? 

a. mol Kg
-1

            b. mol L
-1

             c. g L
-1

             d. K Kg mol
-1 

K b का मात्रक  हैं? 

a. mol Kg
-1

              b. mol L
-1

             c. g L
-1

             d. K Kg mol
-1

 

4. The quantity of charge required to obtain one mole of aluminium from Al2 O3 is 

a. 1F                        b. 6F                       c. 3F                         d. 2F 

Al2 O3 से एक मोऱ एल्यमुमननयम प्राप्त करन ेमें ककतनी मात्रा में आिशे की आिश्यकता होगी 
? 

a. 1F                        b. 6F                       c. 3F                         d. 2F 

 

5. The molar conductivity is maximum for the solution of concentration ? 

a. 0.004 M              b. 0.002 M            c. 0.005 M                   d. 0.001 M 

विऱयन के साांद्रता के मऱए मोऱर चाऱकता सबसे आधधक होगा ? 
a. 0.004 M               b. 0.002 M            c. 0.005 M                  d. 0.001 M 

 

6. Specific conductance of 0.1 M NaCl solution is 1.01   -2   Ohm-1 cm-1 its molar 

conductance in Ohm-1 cm2 mol-1 is 

a. 1.01 X  102            b. 1.01X 103    c. 1.01 X  104               d. 1.01 

0.1 M NaCl विऱयन का विमशष्ट चाऱकता 1.01   -2
 Ohm-1 cm-1हैं ,तो इसका मोऱर 

चाऱकता Ohm-1 cm2 mol-1 में क्या होगा ? 

a. 1.01 X  102            b. 1.01X 103    c. 1.01 X  104               d. 1.01 

7. Radioactive disintegration is an example of? 

a. Zero Order         b. First order    c. Second Order         d. Third Order 

रेडियोसकिय विघटन एक उदाहरण है ? 

a. शनू्य कोटट          b. प्रथम कोटट               c. द्वितीय कोटट             d. ततृीय 

8. The unit of rate and rate constant are same for a reaction ? 

a. Zero Order         b. First order    c. Second Order         d. Third Order 
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ककस अभीकिया का दर तथा दर fस्थराांक  का मात्रक समान होता हैं ? 

a. शनू्य कोटट          b. प्रथम कोटट              c. द्वितीय कोटट               d. ततृीय कोटट 

9. The rate constant for a first order reaction is  2 X 10
-2

 min
-1 the half life period of 

reaction is  

a. 69.3 min               b. 34.65 min           c. 17.37 min              d. 3.46 min 

 एक प्रथम कोटट अभीकिया का दर  2 X 10-2  min
-1 हैं तो इसका अद्थध  आय ु क्या है ?   

a. 69.3 ममनट            b. 34.65 ममनट           c. 17.37 ममनट              d. ममनट ` 

 

10. During the course of the chemical reaction the rate of reaction  

a. Increases with time              b. Remains constant with time                                          

c. Decreases with time             d. Irregular trend with time 

 ककसी रासायननक अभीकिया के दौरान अभीकिया का दर ?  

a. समय के साथ बढ़ता हैं |                b. समय के  साथ स्स्थर रहता हैं |                                        
c. समय के साथ घटता हैं |                d. समय के साथ अननयममत रहता हैं | 
 

11. Which of the following transition metal ion is colourless ? 

a. V
2+

                         b. Cr
3+

                c. Zn
2+

                          d. Ti
3+

 

 इनमे से कौन सा सांिमणीय धात ुआयन रांगहीन हैं ? 

a. V
2+

                         b. Cr
3+

                c. Zn
2+

                          d. Ti
3+

 

12.  Which of the following transition metal ion has highest magnetic moment ? 

a. Cu
2+

                 b. Ni
2+

                           c. Co
2+

                          d. Fe
2+

 

 इनमे से कौन-सा सांिमणीय धात ुआयन का चमु्बकीय आधणूथ  सिाथधधक  होता हैं  ? 

a. Cu
2+

                 b. Ni
2+

                           c. Co
2+

                          d. Fe
2+

 

 

13.  The hybridisation involed in [Ni (CN)4]
2-? 

a. sp
3
                         b. dsp

2
               c. sp

3
d                          d. sp

3
d

3
 

 [Ni (CN)4]
2-

 में सांकरण हैं ? 

a. sp
3
                          b. dsp

2
                c. sp

3
d                           d. sp

3
d

3 

 

14.  Which of the following is not a neutral ligand ? 

a. H2O                         b. NH3                  c. ONO                          d. CO 
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इनमे से कौन एक उदासीन मऱांगेि नहीां है ?  

          a. H2O                        b. NH3                  c. ONO                          d. CO 

15. The number of ions given by [Pt (NH3)6] Cl4 in aqueous solution will be ? 

a. 2              b. 3        c. 5                  d. 11 

 [Pt (NH3)6] Cl4 जऱीय विऱयन में ककतना आयन देगा | 
a. 2              b. 3        c. 5                  d. 11 

 

16.  Which of the following ligand form a chelate? 

a. Acetate            b. Oxalate     c. Cyanide               d. Ammonia 

 इनमे से कौन-सा मऱांगेि चीऱेट बनायेगा  ? 

a. एमसटेट            b. ऑक्सऱेट     c. साइनायि               d. अमोननया  
 

17.  Which of the following reaction follows Markovnikov’s rule 

a. C2H4 + HBr        b.  C3H6 + Cl2       c. C3H6 + HBr           d. C3H6 + Br2 

  इनमे से कौन - सा अमभकिया मकोिननकोि के ननयम का ऩाऱन करेगा ? | 

a. C2H4 + HBr              b.  C3H6 + Cl2        c. C3H6 + HBr             d. C3H6 + Br2 

 

18. Which of the following compounds has the higest bolling point   ? 

a. CH3 CH2 CH2 Cl                       b. CH3 CH2 CH2 CH2 Cl                                                                

c. CH3CH( CH3) CH2 Cl                d. ( CH3)3 C Cl 

 

  इनमे से ककस यौधगक  का कव्थनाांक सबसे अधधक हैं  | 
a. CH3 CH2 CH2 Cl                       b. CH3 CH2 CH2 CH2 Cl                                                                

c. CH3CH( CH3) CH2 Cl                d. ( CH3)3 C Cl 

 

19. Which of the following alkyl halides is hydrolysed by SN
1
 mechanism? 

a. CH3Cl             b. CH3 CH2 Cl      c. CH3 CH2 CH2 Cl                  d. ( CH3)3 C Cl      

इनमे से ककस अल्काइऱ हैऱाइि को हाइड्रोमऱमसस  SN
1कियाविधध द्िारा होगा ? 

a. CH3Cl             b. CH3 CH2 Cl      c. CH3 CH2 CH2 Cl                  d. ( CH3)3 C Cl                

 

20. The ease of dehyrohalogenation of alkyl halide with alcoholic  KOH  is 
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a.                                           b.                                                                                   

c.                                           d.          

 अल्काइऱ हैऱाइि का  अल्कोहोऱ   KOH के साथ डिहाइड्रोस्जनेशन का िम सही हैं ? 

a.                                          b.                                                                                    

c.                                           d.          

 

21. which of the following haloalkanes is most reactive ? 

a. 1 - Chloropropane                     b.1 - Bromopropane                                                                          

c.  2 - Chloropropane                    d. 2 - Bromopropane 

  इनमे से  कौन हेऱोअल्कन  सबसे अधधक सकिय है ? 

a. 1 -  कोऱोरोप्रोऩेन                       b.1 -  ब्रोमोप्रोऩेन                                                                

c. 2 -   कोऱोरोप्रोऩेन                      d. 2 - ब्रोमोप्रोऩेन 

22. Conversion of ethyl alcohol into acetldehydre is an example of - 

 (a) hydrolysis   (b) oxidation 

 (c) reduction   (d) molecular rearrangement 

a.  b.  

c.  d.  

23. The product obtained when sodium phenoxide reacts with carbon dioxide is 

 (a) benzoic acid   (b) Salicylaldehyde 

 (c) salicylic acid   (d) phthalic acid 

a.  b.  

c.  d.  

24. Ether is obtained from ethyl alcohol in presence of H2SO4 at 

 (a) 113 K    (b) 443 K 

 (c) 413 K    (d) 213 K 

H2SO4

 (a) 113 K    (b) 443 K 

 (c) 413 K    (d) 213 K 
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25. The product of hydrolysis of ozonide of I-butene are : 

 (a) ethanal only   (b) ethanal and methanal 

 (c) propanal and methanal (d) methanal only 

 

I-

a.  b.  

c.  d.  

Answer any seven questions  

1x7=7 

26. Give an example of negative deviation from Raoult's Law ? 

 

27. Express relationship between resistance (R) and Specific conductivity (k) 

 

28. Write the IUPAC Name of the compound  

 IUPAC  

(CH3)3 CCH2Br 

29. Name the aldehyde which does not give Fehling's solution test. 

 

30. The reagent to convert nitrile to primary amine. 

 

31. The geometry possessed by [Ni(CO)4] is 

 [Ni(CO)4] 

32. What are the hydrolysis products of sucrose ? 

 

33. Why do amines behave has nucleophiles ? 

34. What happens when aniline is treated with Br2 water ? 
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Br2  
 

 (Short Answer Type Questions) 

Answer any six questions                                        6x3=18 

35. Differentiate between molality and molarity, write their units. What is the effect on     

            change in temperature ? 

 
 

36. NO2 dissociates into NO and O2 as follows :- 

  2NO2                > 2NO + O2 

 If the rate of decrease of concentration of No2 is 6.0 x 10-12 moL-1S-1. 

 What will be the rate of increase of concentration of O2 ? 

NO2 , NO  O2  

  2NO2                          > 2NO + O2 

NO2  6.0 x 10-12 moL-1S-1  O2 

37. Write the IUPAC Names of the following Coordination Compounds :- 

 (a) K3 [Cr (C2O4)3] 

 (b) [Co (NH3)5 Cl] Cl2 

 (c) K3 [Fe (CN)6 ] 

IUPAC 

(a) K3 [Cr (C2O4)3] 

 (b) [Co (NH3)5 Cl] Cl2 

 (c) K3 [Fe (CN)6 ] 

38. Complete these reactiosn :- 
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(a) CH3 - CH2 - OH + SOCl2             > 

 
           OH 
            | 
(b) CH3 - CH2 - CH - CH3 + H2 SO4   (Conc.)              > 

          heat 
 
 (c) CH3 - O - C2H5 + HI             > 
 
 
39. Write on :- 

 (a) Peptide linkage   (b) Glycosidic linkage 

 (c) Name the bases present in RNA. 

 

 (a)    (b)  

 (c) RNA  

40. Complete these reactions :- 

 (a) CH3 - CH2 - CH2 - Cl + KOH (alc.)            > 
 
 (b) CH3CH2- Cl + AgCN                     > 
 
          Acetone      
 (c) CH3-Cl + NaI    > 
41. Write Carbylamine reaction and its use ? 

 

42. a. Define monosaccharide. Give an example ? 

 b. What are reducing sugars. Give an example ? 

 a. 

b. 
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 (Long Answer Type Questions) 

4x5=20 

Answer any four questions  

 

43. (a) What is salt bridge ? Write its functions. 

 (b) If a current of 1.5 flows through a metallic wire for 3 hours,  

  then how many electrons would flow through the wire ? 

(a) 

(b) 

44. Explain with reason :- Transition metals :- 

 (i) And their many compounds show paramagnetic behaviour. 

 (ii) Generally form Coloured Compound. 

 (iii) Exhibit variable oxidation states. 

 (iv) And their many Compounds act as good Catalyst. 

 (v) Enthalpies of atomization are high. 

(i) 

(ii) 

(iii) 

(iv)

(v ) 

45. Identify A,B, C,D and E in the following :- 

A,B, C,D E 

 
          HCN     H2O 
(a) CH3CHO                  > "A"                  >  "B" 
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         H+ 
       i)  Cl2/P  
(b) CH3CH2COOH           >  "C" 
        ii)  H2O 
 
        H2   
(c) CH3 COCl                  >   "D" 
   Pd - BaSO4 
 
   K2Cr2O7/H+ 
(d) CH3CHO           >  "E" 
   

46. Write Short notes on the following :-    
 
 (a) Cannizzaro reaction 
 (b) Clemmensen reduction 
 (c) Hoffmann bromamide reaction 
  

(a) 

(b) 

(c) 

47. (A) Why O-nitrophenol is more volatile than p-nitrophenol ? 
  

 
 

(B) Complete these reactions :- 
  

         OH  
          |       Cu   
(a) CH3 CHCH3        >     
      573K 
 
 
     PCC 
(b) CH3-CH = CH - CH2OH                     > 
      H+ 
(c) CH3OH + CH3CH2COOH     
        
 

48. (A) Definite rate of reaction. ? 
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 (B) Thermal decomposition of HCOOH is a first order reaction with rate contant of   
                         2.4x10 -3  s -1  at a certain temperature. Calculate how long it take for three – fourth  
                       of initial quantity to decompose. 

(A)
(B)  HCOOH
       2.4x10 -3  s -1  
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ANSWER KEYS :- 

 

1. (a)  2. (d)  3. (d)  4. (c)   5. (d)   6. (a)    7. (b)   

8. (a)  9. (b)  10. (c)  11. (c)  12. (d)  13 (b)  14. (c) 

15. (c)  16. (b)  17. (c)  18. (b)  19. (d)  20. (b)  21. (d)  

22. (b)  23. (c)  24. (c)  25. (c)   

 
 
 

 
 


